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1. How many quadrilaterals are there in the given figure?

nh xbZ vkÑfr esa fdrus prqHkqZt gSa\

CHSL Tier-I, 09/03/2023 (Shift-2)

(a) 11 (b) 12

(c) 14 (d) 13

2. How many triangles are there in the given figure?

uhps nh xbZ vkÑfr esa fdrus f=kHkqt gSa\

CHSL Tier-I, 10/03/2023 (Shift-1)

(a) 21 (b) 22

(c) 20 (d) 19

3. Find the total number of triangles in the figure.

nh xbZ vkÑfr esa f=kHkqtksa dh dqy la[;k Kkr dhft,A

CHSL Tier-I, 10/03/2023 (Shift-2)

(a) 12 (b) 9

(c) 11 (d) 10

4. How many triangles are there in the given figure?

nh xbZ vkÑfr esa fdrus f=kHkqt gSa\

CHSL Tier-I, 10/03/2023 (Shift-4)

(a) 18 (b) 12

(c) 14 (d) 16

5. How many triangles are there in the given figure?

nh xbZ vkÑfr esa fdrus f=kHkqt gSa\

CHSL Tier-I, 13/03/2023 (Shift-1)

(a) 18 (b) 20

(c) 10 (d) 12

COUNTING FIGURE

6. How many triangles are there in the given figure?

nh xbZ vkÑfr esa fdrus f=kHkqt gSa\

CHSL Tier-I, 13/03/2023 (Shift-2)

(a) 21 (b) 22

(c) 19 (d) 20

7. How many triangles are there in the given figure?

nh xbZ vkÑfr esa fdrus f=kHkqt gSa\

CHSL Tier-I, 13/03/2023 (Shift-3)

(a) 22 (b) 20

(c) 23 (d) 21

8. How many triangles are there in the given figure?

nh xbZ vkÑfr esa fdrus f=kHkqt gSa\

CHSL Tier-I, 13/03/2023 (Shift-4)

(a) 22 (b) 20

(c) 19 (d) 21

9. Find the total number of squares in the figure.

nh xbZ vkÑfr esa oxks± dh dqy la[;k Kkr dhft,A

CHSL Tier-I, 14/03/2023 (Shift-1)

(a) 10 (b) 8

(c) 6 (d) 12

10. How many maximum triangles are there in the given

figure?

nh xbZ vkÑfr esa vf/dre fdrus f=kHkqt gSa\
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CHSL Tier-I, 14/03/2023 (Shift-2)

(a) 29 (b) 27

(c) 30 (d) 31

11. How many quadrilaterals are there in the given figure?

nh xbZ vkÑfr esa fdrus prqHkqZt gSa\

CHSL Tier-I, 14/03/2023 (Shift-3)

(a) 11 (b) 12

(c) 10 (d) 9

12. How many maximum squares are there in the given
figure?

nh xbZ vkÑfr esa vf/dre fdrus oxZ gSa\

CHSL Tier-I, 15/03/2023 (Shift-1)

(a) 8 (b) 12

(c) 15 (d) 18

13. How many quadrilaterals are there in the given figure?

nh xbZ vkÑfr esa fdrus prqHkqZt gSa\

CHSL Tier-I, 15/03/2023 (Shift-3)

(a) 16 (b) 17

(c) 18 (d) 15

14. How many quadrilaterals are there in the given figure?

nh xbZ vkÑfr esa fdrus prqHkqZt gSa\

CHSL Tier-I, 15/03/2023 (Shift-4)

(a) 15 (b) 16

(c) 14 (d) 13

15. How many triangles are there in the given figure?

nh xbZ vkÑfr esa fdrus f=kHkqt gSa\

CHSL Tier-I, 16/03/2023 (Shift-1)

(a) 20 (b) 18

(c) 25 (d) 14

16. How many maximum triangles are there in the given

figure?

nh xbZ vkÑfr essa vf/dre fdrus f=kHkqt gSa\

CHSL Tier-I, 16/03/2023 (Shift-3)

(a) 8 (b) 13

(c) 15 (d) 21

17. How many maximum triangles are there in the given
figure?

nh xbZ vkÑfr esa vf/dre fdrus f=kHkqt gSa\

CHSL Tier-I, 17/03/2023 (Shift-1)

(a) 24 (b) 28

(c) 32 (d) 20

18. How many quadrilaterals are there in the given figure?

nh xbZ vkÑfr esa fdrus prqHkqZt gSa\

CHSL Tier-I, 17/03/2023 (Shift-3)

(a) 25 (b) 24

(c) 23 (d) 22

19. How many quadrilaterals are there in the given figure?

nh xbZ vkÑfr esa prqHkqZtksa dh la[;k fdruh gS\

CHSL Tier-I, 20/03/2023 (Shift-1)

(a) 19 (b) 21

(c) 18 (d) 22

20. Find the total number of quadri-laterals in the given

figure.

nh xbZ vkÑfr esa prqHkZqtksa dh dqy la[;k Kkr dhft,A

CHSL Tier-I, 20/03/2023 (Shift-2)

(a) 4 (b) 6

(c) 10 (d) 8

21. How many triangles are there in the given figure?

nh xbZ vkÑfr esa fdrus f=kHkqt gSa\
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CHSL Tier-I, 20/03/2023 (Shift-3)

(a) 10 (b) 13

(c) 12 (d) 11

22. Find the total number of rectangles in the figure.

nh xbZ vkÑfr esa vk;rksa dh dqy la[;k Kkr dhft,A

CHSL Tier-I, 20/03/2023 (Shift-4)

(a) 31 (b) 29

(c) 28 (d) 36

23. How many triangles are there in the given figure?

nh xbZ vkÑfr esa fdrus f=kHkqt gSa\

CHSL Tier-I, 21/03/2023 (Shift-1)

(a) 16 (b) 18

(c) 19 (d) 17

24. How many quadrilaterals are there in the given figure?

nh xbZ vkÑfr esa fdrus prqHkZqt gSaA

CHSL Tier-I, 21/03/2023 (Shift-3)

(a) 24 (b) 26

(c) 22 (d) 20

25. Find the total number of triangles in the figure.

nh xbZ vkÑfr esa f=kHkqtksa dh dqy la[;k Kkr dhft,A

(a) 18 (b) 24

(c) 16 (d) 26

26. Find the total number of cubes in the figure?

nh xbZ vkÑfr esa ?kuksa dh dqy la[;k Kkr dhft,\

(a) 8 (b) 11

(c) 10 (d) 9

27. How many squares are there in the given figure?

nh xbZ vkÑfr esa fdrus oxZ gSa\

CHSL 24/05/2022 (Shift-2)

(a) 24 (b) 9

(c) 12 (d) 18

28. How many triangles are there in the given figure?

nh xbZ vkÑfr esa fdrus f=kHkqt gSa\

CHSL 24/05/2022 (Shift-3)

(a) 22 (b) 24

(c) 20 (d) 18

29. How many triangles are there in the given figure?

nh xbZ vkÑfr esa fdrus f=kHkqt gSa\

CHSL 25/05/2022 (Shift-1)

(a) 30 (b) 24

(c) 28 (d) 26

30. How many triangles are there in the given figure?

nh xbZ vkÑfr esa fdrus f=kHkqt gSa\

CHSL 25/05/2022 (Shift-3)

(a) 28 (b) 26

(c) 22 (d) 24

31. How many squares are there in the given figure?

nh xbZ vkÑfr esa fdrus oxZ gSa\

CHSL 26/05/2022 (Shift-2)

(a) 20 (b) 18

(c) 12 (d) 24
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32. How many triangle are there in the given figure?

nh xbZ vkÑfr esa fdrus f=kHkqt gSa\

 CHSL 26/05/2022 (Shift-3)

(a) 10 (b) 20

(c) 8 (d) 18

33. How many triangles are there in the given figure?

nh xbZ vkÑfr esa fdrus f=kHkqt gSa\

CHSL 27/05/2022 (Shift-3)

(a) 12 (b) 14

(c) 8 (d) 10

34. How many triangles are there in the given figure?

nh xbZ vkÑfr esa fdrus f=kHkqt gSa\

CHSL 30/05/2022 (Shift-2)

(a) 13 (b) 12

(c) 15 (d) 14

35. How many triangles are there in the given figure?

nh xbZ vkÑfr esa fdrus f=kHkqt gSa\

CHSL 30/05/2022 (Shift-3)

(a) 25 (b) 28

(c) 24 (d) 22

36. How many squares are there in the given figure?

nh xbZ vkÑfr esa fdrus oxZ gSa\

CHSL 31/05/2022 (Shift-1)

(a) 13 (b) 15

(c) 12 (d) 14

37. Find the number of triangle in the given figure.

nh xbZ vkÑfr esa f=kHkqtksa dh la[;k Kkr djsaA

CHSL 31/05/2022 (Shift-2)

(a) 8 (b) 10

(c) 13 (d) 15

38. How many triangles are there in the given figure?

nh xbZ vkÑfr esa fdrus f=kHkqt gSa\

 CHSL 31/05/2022 (Shift-3)

(a) 24 (b) 36

(c) 32 (d) 30

39. How many squares are there in the given figure?

nh xbZ vkÑfr esa fdrus oxZ gSa\

 CHSL 01/06/2022 (Shift-3)

(a) 22 (b) 7

(c) 6 (d) 5

40. How many squares are there in the given figure?

nh xbZ vkÑfr esa fdrus oxZ gSa\

CHSL 02/06/2022 (Shift-2)

(a) 37 (b) 21

(c) 36 (d) 20

41. How many triangles are there in the given figure?

nh xbZ vkÑfr esa fdrus f=kHkqt gSa\

CHSL 03/06/2022 (Shift-3)

(a) 18 (b) 14

(c) 19 (d) 16

42. Find how many triangles are there in the given figure.

nh xbZ vkÑfr esa f=kHkqtksa dh la[;k Kkr djsaA

 CHSL 03/06/2022 (Shift-3)

(a) 12 (b) 13

(c) 14 (d) 11
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43. Find how many triangles are there in the given figure.

nh xbZ vkÑfr esa f=kHkqtksa dh la[;k Kkr djsaA

CHSL 06/06/2022 (Shift-1)

(a) 16 (b) 20

(c) 14 (d) 18

44. How many triangles are there in the given figure?

nh xbZ vkÑfr esa fdrus f=kHkqt gSa\

CHSL 06/06/2022 (Shift-1)

(a) 8 (b) 11

(c) 12 (d) 10

45. How many circles are there in the given figure?

nh xbZ vkÑfr esa fdrus oÙ̀k gSa\

CHSL 07/06/2022 (Shift-1)

(a) 11 (b) 9

(c) 12 (d) 10

Answer-Key

1. (b) 2. (a) 3. (c) 4. (d) 5. (b) 6. (d) 7. (d) 8. (b) 9. (a) 10. (a)

11. (a) 12. (c) 13. (b) 14. (c) 15. (d) 16. (b) 17. (b) 18. (a) 19. (d) 20. (d)

21. (c) 22. (d) 23. (d) 24. (d) 25. (b) 26. (c) 27. (d) 28. (c) 29. (d) 30. (d)

31. (b) 32. (c) 33. (d) 34. (a) 35. (c) 36. (d) 37. (b) 38. (a) 39. (d) 40. (d)

41. (c) 42. (b) 43. (d) 44. (b) 45. (d)
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1. (b) 12

3

3

1 2

3 6

4

5 1×2 (figures) = 2

= 3 + 3 + 2 = 8 quad.

nks ;k nks ls vf/d Quadrilaterals dks feykus ij cuus okys
Quadrilaterals

(3, 4, 5), (4, 5, 6), (1, 2, 3, 4, 5, 6)

(3, 4, 5, 6) = 4

vr% dqy prqHkwZtksa dh la[;k

 8 + 4 = 12 quad.

2. (a) 21

2

1

4

3

4×2 
= 8

A B

CD

E

F

G
H

3

2

In figure AGFD = 4 × 2 = 8

In figure ABG = 3

In figure BGFC = 2

feykus ij cuus okys f=kHkqt& DBF, HFB, BCD, DAB,

ABF, AEF, ABH, FEB = 8

vr% dqy f=kHkqtksa dh la[;k

 8 + 3 + 2 + 8 = 21

3. (c) 11

1

2 3 4

3

5

3

22

1

1 + 2 = 3

vr% dqy f=kHkqtkssa dh la[;k

 3 + 3 + 2 + 1 + 2 = 11

4. (d) 16

2

4
1 3 4 × 2 

= 8

5

A B

C

D E

FG

H

1
2

3
4

A B

FG

D

G F

E

feykdj cuus okys f=kHkqt& DFA, DGE, DCF = 3

vr% dqy f=kHkqtksa dh la[;k
 8 + 5 + 3 = 16

5. (b) 20
A B

CD

E

F G

HI J

K L M

9

A E

F
K

L

D I H

9

E B

L
M G

H J C

feykus ij cuus okys f=kHkqt& DEC, AKM = 2

vr% dqy f=kHkqtksa dh la[;k
 9 + 9 + 2 = 20

6. (d) 20

A
B

C

DE

F

G

D1+
  +

2 
 +
3

1+2

 6

EDH, EDG, AEF, FDG, ADF, FEG, EHF,
DBF, EFD, ABF, FHG = 11

vr% dqy f=kHkqtkssa dh la[;k
 6 + 3 + 11  

7. (c) 23

A B

C DE

F

G

H

1 +
2 

+3

1 + 2

6

3

1 1

feykdj cuus okys f=kHkqt& ABF, ABD, CBE, CBD,

EAC, EAD, EAB, EAF, CAD, EBH, EBD,
CGD = 12

vr% dqy f=kHkqtksa dh la[;k
 6 + 3 + 1 + 1  12= 23

8. (b) 20

1

2

3

4×2
=8

1
 +

 24
A

B

C

D

E
G

F

H

3

feykdj cuus okys f=kHkqt& DCF, BHG, HFB, GBE,

GBA, DBF, ACF, AGF, ABF = 9

vr% dqy f=kHkqtksa dh la[;k
 8 + 3 + 9 = 20

Answer With Explanation
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9. (a) 10
A B

CD

E F

G

H

I J

K L

M

feykdj cuus okys prqHkwZt& AHME, HBMF, EMGD,

MFGC, ABCD, IHJM, MJFL, KMLG, EIMK,

HEGF =10

vr% dqy prqHkwtksa dh la[;k = 10

10.(a) 29

1
1

6

2

5

3

4

4

3

6

1

5

2

A B

C D

E F

G

H

I

6× 2
= 12 

6× 2
= 12 

feykus ij cuus okys f=kHkqt- ADE, BCF, HCI, DHI = 4

vr% dqy f=kHkqtksa dh la[;k
 12 + 12 + 1 + 4  = 29

11.(a) 11

A I B H

D
J

C

E F G

feykdj cuus okys prqHkwZt&AIJD, IBCJ, ABCD, BHGF, DCFE,

EABF, AHGE, AIJE, IBFJ, DJFE, EJCF =11

 vr% dqy prqHkwtksa dh la[;k = 11

12.(c) 15

A B

CD

EF

G

H

I J

KL M

N

OP

Q

U

ST

V

W

X

Y

R

5
5

5

Q X R

U
Y

V

T W S

5
=[ UYWT, YVSW,

XYRV, QXYU,
QRST]

Maximum square

  5 × 3 = 15

13.(b) 17

3

3

6

1 2

3 4 5

6 7

(3, 6), (3, 4, 5, 6, 7), (1, 2, 3, 4, 5)  (4, 5, 7) (1, 2, 3, 4, 5, 6,

7) = 5

vr% dqy prqHkwZtksa dh la[;k

 3 + 6 + 3 + 5 = 17

14.(c) 14

5 51

1

2 3

4 5 6

7

(1, 2, 3, 4), (4, 5, 6, 7), (1, 2, 3, 4, 5, 6, 7) = 3

vr% dqy prqHkwZtksa dh la[;k
 5 + 5 + 1 + 3 = 14

15.(d) 14

 ABC = 3

A

B

C

D

E

F

GH

IJ

 DEF = 3

CHF, BJI, BHC, BCF, BAI, IGF, BEF, IDF =
8

vr% dqy f=kHkqtksa dh la[;k
 3 + 3 + 8 = 14

16.(b) 13

1 2

1 2 3 4
1+2+3+4 
 = 10

1+2 = 3

vr% dqy f=kHkqtksa dh la[;k
 3 + 10  = 13

17.(b) 28

A

B

C D

E

F

G H

I

J
33

8

8

ABC = 3, FED = 3

In figure GHDC = 8

In figure BFHG = 8

feykus ls cuus okys f=kHkqt& BHA, AHC,
FGE, EGD, BHC, FGD = 6

vr% dqy f=kHkqtksa dh la[;k
 3 + 3  8 + 8 + 6 = 28

18.(a) 25

1 2

3 4

5 6

7 8 9
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3 × 2 (figures) 
= 6

3

6

(1, 3), (2, 4), (5, 7), (6, 8, 9), (1, 2, 3, 4), (3, 4, 5, 6), (5,
6, 7, 8, 9), (1, 2, 3, 4, 5, 6),(3, 4, 5, 6, 7, 8, 9)

(1, 2, 3, 4, 5, 6, 7, 8, 9) = 10

vr% dqy prqHkwZtksa dh la[;k
 6 + 3 + 6 + 10 = 25

19.(d) 22

3

6

3

= 15

1 2 3

4 5 6

7 8

(1, 4), (6, 8), (2, 3, 5, 6), ( 4, 5, 7), (1, 2, 3, 4, 5, 6), (4,
5, 6, 7, 8)

(1, 2, 3, 4, 5, 6, 7, 8) = 7

Total numbers of Quad.

 15 + 7 = 22

20.(d) 8

1 2

34

5 6
7

(1, 2, 3, 4), (1, 4, 5), (2, 3, 6), ( 4, 5), (3, 6), (1, 2, 3, 4, 5),
(1, 2, 3, 4, 6), (3, 4, 5, 6, 7)

Total numbers of Quad. = 8

21.(c) 12

1

2
3

4

56

A B

C DE

G

F

 

6

A B

D

1  + 2  + 3

EFD, EGF = 2

feyus ij cuus okys f=kHkqt&
EGB, EBD, ACD = 4

vr% dqy f=kHkqtksa dh la[;k
 6 + 2 + 4 = 12

22.(d) 36

1 2 3
1

2

3

+ + = 6

+

+

=

6

Total no. of rectangle

 6 × 6 = 36

22.(d) 17

A B

C

D E

F

G4×2 
= 8

BFE, BCE, DCE = 3

feykus ij cuus okys f=kHkqt&  AEB, GEB, AEF, DBE,

EDG, EDA = 6

vr% dqy f=kHkqtksa dh la[;k
 8 + 3 + 6 = 17

24.(d) 26

10 15

A B

C

D

Total Quad. = 10 + 15 + 1 (ABCD)  = 26

25.(b) 24

1
 +

 2
 +

 3
 +

 4
  
=
 1

0


1
 +

 2
 +

 3
 +

 4
  
=
 1

0


A

B C

D

E

F

G

feykus ij cuus okyh f=kHkqt& BGC, BEC, BAC, BDC =

4

vr% dqy f=kHkqtksa dh la[;k
 10 + 10 + 4 = 24

26. (c) 10

6

3

1

fupyh ijr esa 6
eè; ijr esa 3
Åijh ijr esa 1
vr% ?kuksa dh dqy la[;k = 10

27.(d) 18

J

N

K

M

H W F I

E

L

A X C

D

B

G1
2

22

3
2

1 

4 

9 
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1 + 4 + 9 = 14
HGFE, KJIL, ABCD, ILNM = 4 Total number of
square
 14 + 4 = 18

28.(c) 20

4

4

4×2 = 8

4

1 2

3 4

vr% f=kHkqtksa dh la[;k
 4 + 4 + 8 + 4 = 20

29.(d) 26

3

4
4
3
4

3

2
3

vr% f=kHkqtksa dh la[;k
 3 + 4 + 4 + 3 + 4 + 3 +  2 + 3 = 26

30.(d) 24

A

B

C

D 3

4
2

4

1
4

3

1

feykus ij cuus okyh f=kHkqt&
ADB, ABC = 2

vr% f=kHkqtksa dh la[;k
 3 + 4 + 2 + 4 + 1 + 1 + 4 +  3 + 2  = 24

31.(b) 18

A BVF

D CNT

S

E U

M

O

P

Q
I

H

G

K
1

2

3

4

5

6

7

8

9

10

11

12

L

J

The squares are
Total count = 12
ABCD, EFGH, IJKL, HGMN, SOQT, OQUV = 6
Total number of square

 12 + 6 = 18

32.(c) 8

1

2

3

4
4×2 
= 8

vr% f=kHkqtksa dh la[;k = 8

33.(d) 10

4

4

1

1

vr% f=kHkqtksa dh la[;k
 4 + 4 + 1 + 1  = 10

34.(a) 13

3

3
3

31

vr% f=kHkqtksa dh la[;k
 3 + 3 + 3 + 3 + 1 = 13

35.(c) 22

4

3

4

1

2

4

3

1

A B

C D

feydj cuus okys f=kHkqt& ABC, CBD = 2

vr% f=kHkqtksa dh la[;k
 1 + 3 + 4 + 4 + 1 + 3 + 4 + 2 = 22

36.(d) 14

12   = 1

2
2   = 4

3
2   = 9

The square are : 1 + 4 + 9 = 14

37.(b) 10

A

B C

1

4
2 3

4

ABC = 1

D

E F

1

4
2 3

4
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DEF = 1

vr% f=kHkqtksa dh la[;k

 4 + 4 + 1 + 1 = 10

38.(a) 24

3

33

1 3

3 1 3











A

B

D

E

F

G

J

L

K

H

feydj cuus okys f=kHkqt& LBA, KLJ, EDF, FGH = 4

vr% f=kHkqtksa dh la[;k

 3 + 1 + 3 + 3 + 3 + 1 + 3 + 3 + 4 = 24

39.(d) 5

Q R

T S

M N

OP

I J

KL

E F

GH

A B

CD

1

2

3

4
5

No of squares : ABCD; EFGH; IJKL; MNOP; QRST = 5

40.(d) 20

5
5

5

5

No. of square

= 5 + 5 + 5 + 5 = 20

41.(c) 19

A D

NG

B F

H K M

E C

LIJ1 2 3 4

5
6

7 9 11
8 10

121314

No. of triangle : No of count = 14

ABC, DEF, GHI, JKL, IMN = 5

vr% f=kHkqtksa dh la[;k
 14 + 5 = 19

42.(b)

1 + 2
 

= 3

1 + 2   + 3 + 4  = 10

vr% f=kHkqtksa dh la[;k
 10 + 3 = 13

43.(d) 18

1 2

3

4

56

7

8

1

1

8 × 2 
= 16

vr% f=kHkqtksa dh la[;k
 16 + 1 + 1 = 18

44.(b) 10

1

5

1

1

3

vr% f=kHkqtksa dh la[;k
 1 + 1 + 5 + 1 + 3 = 10

45.(d) 10

3

4

3

vr% Circles dh la[;k
 3 + 4 + 3 = 10


